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QUESTION 1
Solve the following equations for x.

5x + 4y = 27 x-2y=11

Correct Answer: D
Explanation: To solve these equations for x, begin by finding a way to eliminate y. Multiply both sides of the second

equation by 2. 2(x-2y) = 2 x 11 2x - 4y = 22 Add the new form of the second equation to the first equation, and solve for
X.bX + 4y = 27 2x - 4y = 22 (+4 cancels -4) 7x =49 x =7

QUESTION 2

Solve for x: 6(x +5) +8 =2

Correct Answer: C

QUESTION 3

If x = 8, what\\'s the value of y in the equation:
y=(x2+4)-2?

A. 14

B. 16

C.18

D. 20

Correct Answer: A
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Explanation:y=(x2+4)-2y=(82+4)-2y=(64+4)-2y=16-2=14

QUESTION 4

?-9 is an example of a(an)

A. real number

B. imaginary number

C. irrational number

D. sloping number

Correct Answer: B

Explanation:

The square root of a negative number doesn\\'t exist as far as real numbers are concerned. In mathematics,

this is called an imaginary number.

QUESTION 5

The average of 0, 54, 61, 70, and 75 is

A. 50

B. 52

C.55

D.58

Correct Answer: B

Explanation:

Add the number and then divide by the number of terms.

54 + 61+ 70+ 75 =260.260 +5=52.
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